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1 B8

X9 = A modN OBEOEIICHSONWTHRSL, SEITN #F KL L
O XY =1modP

@ XQ=—-1mod P (PIIFE%)

D2 OFFRD.

2 Ak
N BFEHEY X =1.(7 = v~—D/NERR)
FoTQ>POBXY=XQ. X 1=XLR20T,450IZQ < PIZHOVWTH~S.
prolog TIE~727 077 AW CT—4 258D, L TORICHEETS.
O X? =1 mod P(P 1Z5%)
1. BB QT L TIROEIXE AN 5 ).
2. N1 OGS, Q & P OBE.
3. N P — 1O, EAKRP & QI

4. BB QM (Q LRUE) ORE, EALP L QD

@ X9 = —1 mod P(P 135#%%)

1. B2 ohi QT L THOEBITE AR & 50
2. ER 1O WGE, Q & P OB

3. fERIRVEED Q & P D RIE.

4. DS EZL EORE, LA P L QD

5. M Q EOWE, AP L QM



~F ST a ST A~

X9 =1 mod P Dff0¥EH+ a7/ 4

tama(N,Q,C) :—ctr_set (0),
xpqs(X"Q=1 mod N),
ctr_inc( ),

fail.

tama(_,_,C) :-ctr_is(C).

X9 =1 mod P ® P %#EDH, Q D OMOME A+ 7 1T A

tamaq(N) :-N1 is N-1,
for(2=<N1,Q),
tama(N,Q,C),
euler(N,F),
write([N,Q,F,C]),
nl,

fail.

tamaq(_) .

XQ = -1 mod P DDA T T 7T A

tama2(N,Q,C) :-ctr_set (0),
N1 is N-1,

xpqs(X~Q=N1 mod N),
ctr_inc( ),

fail.
tama2(_,_,C):-ctr_is(C).

X9 =—-1 mod P ®P ZEDK,Q DEEOMROEEE T 0 /T A

tamaq2(N):-N2 is N-1,
for(2=<N2,Q),
tama2(N,Q,C),

euler (N,F),
write([N,Q,F,C]),

nl,

fail.

tamaq2(_).

FA 7 —BEHT T s T A

factor(P/2):-Q is P//2,P =:= 2xQ,!.
factor(P/I):-P1 is floor(sqrt(P)),
for(1 =<P1,7J),

J1 is 2xJ+1,

Q is P//J1,



P =:= J1xQ,I=J1,!.
factor(P/P):-!.

euler (N,F) :-factor (N/P), (
P==N ->F is P-1;
M is N//P,euler(M,F1),
(M mod P =:=0 ->(F is P*F1); F is (P-1)%*F1)



3 R

#1: XOQ=1 mod P DO E Q) L P D%

P|P- P — 1 DK% B3 1 SDIED
3 1,2 L
5 1,2,4 3
7 1,2,3,6 5
11 10 1,2,5,10 3,79
13 12 1,2,3,4,6,12 5,7,11
17 16 1,2,4,8,16 3,5,7,9,11,13,15
19 18 1,2,3,6,9,18 5,7,11,13,17
23 22 1,2,11,22 3,5,7,9,13,15,17,19,21
29 28 1,2,4,7,14,28 3,5,9,11,13,15,17,19,23,25,27
31 30 | 1,2,3,5,6,10,15,30 7,11,13,17,19,23,29
37 36 | 1,2,3,4,6,9,12,18,36 5,7,11,13,17,19,23,25,29,31,35
41 40 | 1,2,4,5,8,10,20,40 3,7,9,11,13,17,19,21,23,27,29,31,33,37,39
43 42 | 1,2,3,6,7,14,21,42 5,11,13,17,19,23,25,29,31,37,41
47 46 1,2,23,46 | 3,5,7,9,11,13,15,17,19,21,23,25,27,29,31,33,35,37,39,41,43 45




#£ 2 XQ =1 mod P DD E Q & P OMIE

P|P-1 P—-10#% | QM (Q LRLH) Ok Q
3 2 1,2 2
5 4 12,4 2.4
7 1,2,3,6 2,3,6
11 10 1,2,5,10 2,5,10
13 12 1,2,3,4,6,12 2,3,4,6,12
17 16 1,2,4,8,16 24,816
19 18 1,2,3,6,9,18 2,3,6,9,18
23 22 1,2,11,22 2,11,22
29 28 1,2,4,7,14,28 2,4,7,14,28
31 30 | 1,2,3,5,6,10,15,30 2,3,5,6,10,15,30
37 36 | 1,2,3,4,6,9,12,18,36 2,3,4,6,9,12,18,36
41 40 | 1,2,4,5,8,10,20,40 2.4,5,8,10,20,40
43 42 | 1,2,3,6,7,14,21,42 2,3,6,7,14,21,42
47 46 1,2,23,46 2,23,46




#3: XQ=1 mod P D0 é Q & P ORf%

0 Q L CHOMEE> P
2 | 3,4,5,6,9,10,11,13,14,17,18,19,22,23,25,26,27,29,31,34,37,38,41,43,46 47
3 7.9,13,14,18,19,21,26,27,28,31,35,36,37,38,39,42,43 45
4 5,8,10,12,13,17,21,25,26,28,29,33,34,36,37,41,42,44
5 11,22,25,31,33,41,44
6 7,9,13,14,18,19,26,27,31,37,38 43
7 29,43
8 15,16,17,20,24,30,34,35,39,41,45
9 19,27,37,38,39
10 11,22,25,31,41
11 23,46
12 13,21,26,28,36,37,42
14 29,43
15 31
16 17,32,34,40,48
18 19,27,37,38
20 25,33,41,44

21 | 43

22 | 23

23 | 47

28 | 29

30 | 31

36 | 37

40 | 41

42 | 43

46 | 47




#4: X9 =1 mod N OfE0¥E Q &+ P OR%

P | £2 £ of%k FRDNIROEED Q
3 1 1 2
5 2 1,2 4
7 3 1,3 2,46
11 5 1,5 2,4,6,8,10
13 6 12,3 48,12
17 8 1,2,4,8 16
19 9 1,3,9 2,4,6,8,10,12,14,16,18
23 | 11 1,11 2,4,6.8,10,12,14,16,18,20,22
29 | 14 1,7,14 2,4,6,8,10,12,14,16,18,20,22,24,26,28
31| 15 1,3,5,15 2,4,6,8,10,12,14,16,18,20,22,24,26,28,30
37 | 13 1,13 2,4,6,8,10,22,24,26,28,30,32,34,36
41 | 20 1,2,4,5,10,20 8,16,24,32,40
43 | 21 1,3,7,21 2,4,6,8,10,22,24,26,28,30,32,34,36,38,40,42
47 | 23 1,23 | 2,4,6,8,10,22,24,26,28,30,32,34,36,38,40,42,44,46
257 | 128 | 1,2,4,8,16,32,64,128 256




#5: X9 =—-1 mod N Okt Q & P ORE%

P 5| 5 ok 7 1 SOWED Q
3 1 1 mL
5 2 1,2 3
7 3 1,3 5
mnl s 1,5 3,7,9
13 6 1,2,3 5,7,11
17| 8 1,2,4,8 3,5,7,9,11,13,15
19 9 1,3,9 5,7,11,13,17
23| 11 1,11 3,5,7,9,13,15,17,19,21
29 | 14 1,7,14 3,5,9,11,13,15,17,19,23,25,27
31| 15 1,3,5,15 7,11,13,17,19,23,29
37| 18| 1,2,3,6,9,18 5,7,11,13,17,19,23,25,29,31,35
41| 20 [ 1,2,4,5,10,20 3,7,9,11,13,17,19,21,23,27,29,31,33,37,39
3] 21 1,3,7,21 5,11,13,,17,19,23,25,29,31,37,41
a7 | 23 1,23 | 5,7,9,11,13,15,17,19,21,25 27,29,31,33,35,37,39,41,43,45

#6: X9 =—-1 mod N Okt Q & P ORE%

P | B2 Loy | i Qi (Q LRI oo Q
3 1 1 L
5 2 1,2 2
7 3 1,3 3
11 5 1,5 5
13 6 1,2,3,6 2,3.6
17 8 1,2,4,8 2,48
19 9 1,3,9 3,9
23 11 1,11 11
29 14 1,2,7.14 2,7,14
31 15 1,3,5,15 3,5,15
37 18 | 1,2,3,6,9,18 2,3.6,9,18
41 20 | 1,2,4,5,10,20 2,4,5.10,20
43 21 1,3,7,21 3,721
47 23 1,23 23




# 7 XQ=—-1 mod P DfRO¥ L Q & P ORE%

Q | Q LRICEHBDEER> P
2 5,13,17,29,37,41
3 7,13,19,31,37,43
4 17,41
5 11,31.,41
6 13,37
8 17
9 19,37
10 41
14 29
15 31
18 37
20 41
21 43
23 47

10
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# 14: X = 23 Off O
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31 X9= 1 mod NIZDOWLWTOHEBEER

DOE 26Nz Q I L THLNLMOEIL P — 1 O, &L THREND.

(Fl) P=17 DHF, P—-1=16 TH V%13 1,2,4.816. HOHN5MHE 124,816 L72->Tn5D.
P=37T0OK, P—-1=36Th kit 1,234,6,9,12,18,36. HFoN5HMEE 1,2,3,4,6,9,12,18,36 &
o TND.

QN KREETHS P -1 OO QX P -1, L TSNS,
(Bl) P =23 O P—1=22 &72%%,Q =22 DOI¢22 [HOHEKEROMNR & 5.
OEMN 1O LR WEE,Q & P— 1IXHWIHE (GCD(Q,P —1)=1), & TS5,
B Q =9,P —1=17 DKFQ & P — 1I1TAWVIZHE (GCD(9,17)=1) 72D THix 1 .

3.2 X9= —1 mod NIZDWLWTHEHEHFER

Off% 1 OHFRTZRVEE Q XN TR 72D, E PHEIND. FHC P =1+28(E =2°¢) Thh
X Q =28 OREE R 72\,

(BP =17 DE; P =1+ 2% LKHTE S (E =4).

LT Q=2=16 OFEREEZEFZ720.

QRN 1 SO Q IZHTHE, & THREND.

@ Q ="P-20K =1 LM#ENRZND, L TPHERIND.

@Q=P—-40DFz=—-1%LTRIEEDL HBHEICL>TEOM2 DO EFFo & THENS.
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4 HEE
4.1 X9 = 1mod N OEELHRENDIIA

@®

ONR KB THDL P - 1HOEO QIEZP -1 E725> TS, ZhiE7 =/L~—0/NEH L
DS,

@GCD(Q,P-1)=a tTHLXP=122 X Tallds.

AiE)
P-1=a
m@) = ak

EEFD . (m & kIXAEWIZHE)

X =170 X=11275%. ZhEzrT.
2—7 Uy ROFHELY am + bk = 1.

a BHNT B L,

aam + abk = «

a(P-1)+bQ =«

Na(P—1)+bQ_ ya

xa(P-1) | ybQ_ xa

koTXxo=1

X =10f% BBy LT HE

pr =)k =1*

Lo TXC=1%22 X Taldds GEHKDD)

4.2 X9 = —1 mod P DEEIEERNEIMA

OX?= —1 mod P,P =28(E =2°) IZ@MNRNET5.
QNFHIZE X = -1 MR b0T,Q ZMlKkE L Q=X2"5S 13#%) i<,
X2 = 1B HUE X2 1IN D 5.

FoT X = 1IN niE k.

Tz w—0O/NEH LY XP =1,

P—1=2870TX2 = —1ICIIA7R.

o Tm=ERBNRNDOTm< ERLMNRHDIFELEREEIV.
a ZFMEIRET S,

m=FE—10Ok

22" = (5,

TE2ET AL o5 P12
EoTa=T)=1 L%V 2 = CHEH-.

m=FE—2 Ok

.sz = a(%).

TREART S L o B — P12

Lo T

&)
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@QR=P-2Lt7T5.

29 = —1. WAz x 2T B &,

29t = ¢

TRt =Pl =1 50T = —1.

EoTQRQ=P—-21Fz=-1LREF2V. GEFKDD)

@DQQ=P—-4Lt75.

2@ = —1. WIC 2 2T 5 &,

293 = 43

TITa9t =Pl =1 R0 T e = —1

P+1l=(+1)(z>-2+1)=0

T=—10FERDOFALN2OT2? —2+1=0 mod P #FH~<5.

F£8~20LV 22 —2+1=0 mod PIT X — 103 DEKRDOHX = -1 25D 3 >Ofifk i
OHERH B .
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5 SHEOAE
X9 =1 mod P,X? = —1 mod P O A7 fRO MRS\ TR TE 2o 7z,
N=P(FH) D& 25 &M N BEE, THOBEELDBEND 5.

48

>IN

6

g

BHDOTFTETIE, @ XP +XQ+1=0 mod N IZOWTHMETHFETLED, BHD &
RECED@IZOVWTIFHARDENRTEPITKRDH>TLEWE L, I b ARERGIEEICHIYE
LCEXELELWNTT,
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